480781 GRAPH RATIONAL FUNCTIONS Name

Day 3
HW AND REVIEW STUFF Date Period
Fill in all the information, and graph each rational function.
3 2
1) f(x) = x> +3x°—x-3
+1
£ x:—(x-rz) - \(X*?): (xz,\)(x_t%): (x\l Mx—)(x+3)
X\ (x=+") (x\u P)
£(x) = (x-\){x*a) Ouadvaric! 10:
e Xx*x21x-3 8 :
vortex =l o -2, 6r
20 200 -
(t.-4) T
hole(s):  (—\,-4) 2F
e (1,00 (-30) SEE T e

y—int: (0,-2)
VA: DNE

HA: DNE

2_ f—
2) flx)= 224 2 xm12)

x> +x-12 S = }b“qu*g)
* vt \N=0 Ny wt. x=zo
(x+4)(x-3) m) | _
6= 2(v-4)(v+3) to):= 2 | i
T
hole(s): DNE -

x—int: (4,0)(-2,0)
y—int: (0,2)

VA: X=4 xX=3

HA: Y =2

B

o

&
--.-.-_—:__?:
. of
AL AT LN




C (x+5P(xA)
fx) = (A1) (x +2)(x — 3

)= (x+5)*

(x=2)(x-3)°

hole(s): (1, 3)
x—int: (-$,0)

25
y —int: (0,—‘—3—

VA: x=-2 x=3

HA Y=O
2 p—
(7/43)0:*2)
flx)= x-2
X+2

hole(s): (-3,5)
X —int: (110)
y—int: (o,-\)
VA: X= -2

HA: Y= I

1

g
b
4

0

{12

T S S SRS I ——

| N S N N —

F—0—Ri- -0 —F—-Ri=1

10,8 -6 A4 P
I

10

2 4 6 8 10



(x -1 4%)
(x74)(x -3)(x+2)

L) = (X -\ )
(x-;)(x-e:—)

5) flx)=

hole(s): (4, =%

x —int: (.lJO) 00 -
y —int: (O, Jc)

VA: X=3 w=-2

HA: y=o0

o (x=T)(x+3)
8 1) (x+1)2(x—3)

hole(s): DNE
x—int: ([,0) (-3,0)
y —int: (0, O

VA: X=+- Xx=3

HA: =0



7. Given the sets of data below: 1) Name the type of function that best fits the data, and
2) Write the particular equation that fits the data.

A) B) ) D)
X y X y X y X y
1 2 2 8 | 13122, 0 4 1 4
NOE 227 5uan <lg | g7y 345 6" =<y 7
‘245 707 ey | 162 27w "3 <6 8 o <4 257°%
+2€7 142 7+ 12 “2< 5 18 7% 3% 10 2<8 | .0625-1
+2 <9 238 0 2 & > h
. Oox° 3 Invevse Varacdhon:
QuadvoXic: Expononhal: Lnear
2 * N=mx +b b= y=
@ Ipts \n ax“toxtC= ‘l) y= el b) '):;,
Hne Xy - X -
V\vs;:m,rx V=2(b) \\/—%x-\—\\ Yz ke
Ly -2 pe? .ezl(b)'l >
a 3 | 22| \oo 3 ey
<s\ 0 orvoe b=
0o -5 y= &

fy=ze-s) | v=2(8)" )
8. You are looking to buy a new car and decide to do some research about the depreciation of the

cars. Your first choice has a purchase price of $42,000, but its value decreases by 30% each year.

Your second, more affordable but not as sporty, choice has a purchase price of $25,000 and will
only depreciate by 15% each year.
a) How much will each car be worth in 2 years? 5 years? 10 years?
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b) Write an equation to represent the value of each car after n years.

Y= '*1‘000(,’.})“ y= 7,9‘000(_3:)“

c) Draw a quick sketch of each equation to answer the following question.
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d) How long before the cars are worth the same amount?

42,000 (,7)* = 25 000 (-8&’)¥ R 2.6 yrs  they ave worth 8\, 143.
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Write a general equation for: y varies inversely with the square of x.
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What happens to the value of y when x is tripled, in the variation above?
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Write a general equation for: y varies directly with the cube of x.

y= 3

What happens to the value of y when x is multiplied by one-fifth, in the variation above?
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The points (7, 45) and (21, 5) fit a variation function.
b 3
L - . 5
Which kind of variation function does the data represent? ae -,‘ .,?'> . -‘R
2

Inwverse anation

Write the particular equation for the function.
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The mass of an orange varies directly with the cube of its diameter. If a Florida orange has
twice the diameter of a California orange and the Florida orange weighs 6 oz. How much does
the California orange weigh?
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